135-050( A-158) (1/1)

50

cm
10|20
10(20|30
0 10 20 30 40 50 6
0.30 0.3 =
M 1T 1T -
IRl 3
(IR -
[Tl =
= g ol 11 | Lis 0 =
E / =
- 40 —
= 1.55 =
= 23 23 =
= 2.15] 23 i =
= 30 30| 23 =
= 2.45 =
= 3.30 30 30 =
= 3.15 =
= === 30 30| 3 =
= 3.45 =
E 50 50 4
= 4.15| / / =
E 16 16 {93.9 =
E 731 =
= 50 50 =
E 5.15| / /
E 14 14 | 107

c0:0-0:0:0:0:0-0-0-0

\

= 7.15| 7 7 —
= / / b=
E 32 32 | 6.9 =
= 747 —
E s 85| 7 7 =
E 30 0| 1 =
E 8.45 3
E o 9.15| 8 8 =
E 30 0| 4 =
= 9.45 —
- 10]10.05 3.0 10.15| 11 11 -
F O 15| 1 vi =
E ol |- 30 30| 11 ]
= 10.45 —
Fu 25 25 -
E 11.15) 2 25 =
F 30 30| 2g =
E 11.45 \ —
SN | 50 50 =
E ?l12.18 2.10° © - * - 12.15| / / =
E O-0-0 14 14 | 107 S 3
= : 12.29 =
E 07070 =
= 0-0-0 Eﬁ) 5/0 3
E 13 “o-

E 0:0x0) 18150 4y 11 | 134 RN E
E ~O- 13.26 =
= O-0-0 =
E 14l14.00 1.690 " Q" O 50 50 =
= 1415 % i N =
E 24 24 |62.5 =
E 14.39 =
E s 50 50 =
= 15.15| / /

E o [15.31] 1.31 16 16 |93.9 AN




